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Question Number : 1 Question Id : 544734481 Display Question Number : Yes Is Question
Mandatory : No

Let f(x) = (x + 2)2 —2,x = —2. Then f_l(,r) =
fFG)=(x+2)?—2,x2-2ea0d f1(x) dend

Options:
—N2+x—2

Question Number : 2 Question Id : 544734482 Display Question Number : Yes Is Question
Mandatory : No
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If ‘f" is the greatest integers function defined on R as f(x) = [x] and ‘g’ is the modulus

function defined on R as g(x) = |x|. then the value of (gof) (_;) 1S

7o (103 P Do AT f(x) = [x] mrad HBakn ‘g’ B D D).

0880 R D g(x) = 2| ™ 2628 (9of) (%) dews

Options:

1.3"1

Question Number : 3 Question Id : 544734483 Display Question Number : Yes Is Question
Mandatory : No

Iff:R — R and g:R — R are two functions defined by f(x) =ax+b(a #0) YV x € R and
g(x) = cx’ +d (c £ 0)Vx €R. then (fog) ™' (x) =

f:R - R %0050 g:R = R pdvasro f(x) =ax+b(a#0) Yx ER, g(x) = cx’ +
d(c£0)VxERM DD O\ (fog) ™' (x) =

Options:
=
(x—ad+ b )2
1. % -
1

(x+ad—b)?
2. % b
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Question Number : 4 Question Id : 544734484 Display Question Number : Yes Is Question
Mandatory : No

Using mathematical induction. the numbers a,'s are defined by a, = L,a, ., = 3t 4n+

0
a, (n20).thena, =

Oy RO @) = 1,0, = 30" + 1+, (n 2 0) 1 DO, Arderdoriind derodo

P50 @, 8 VATINNR.
Options:
n+nt+1

1. %

5> & n.S—nz-i-l

g x 0N

4 % n® + n’

Question Number : 5 Question Id : 544734485 Display Question Number : Yes Is Question
Mandatory : No
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a; by ¢ a4 by 0y
Ifk€RanddetA= [a, b, c;|=kthendetB=|a,+2a; by+2b; ¢34 2¢]is
ds b3 C3 dj b3 C3
equal to
a; by ¢ ay by Cy
dE‘tA =1 bg O B k@&»é. dE’tB ~ | 22 + 23.1 bZ + Zbl Gy + 2{‘1 8 (k £ R)
d3 b3 C3 ds bg C3
TR0V
Options:
1.% 0
2. % 2K
3.« K
4. % K2

Question Number : 6 Question Id : 544734486 Display Question Number : Yes Is Question
Mandatory : No

[ V2020 2021 2021 /2023 |
V4040 /4042 V4044 /4046
V6060 16063 6066 +6069
V8080 /8084 /8088 /8092

IfA = then the rank of A 1s

A 2798 58
Options:

1.¢ 1
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Question Number : 7 Question Id : 544734487 Display Question Number : Yes Is Question
Mandatory : No

x x° 14x°
If|y v 1+ y3|=0andx,y,z are all distinct. then xyz =

y y2 1+y?| = 0200050 x,y,z 0 DTy 0owd. xyz =

Options:

1.¢ —1

Question Number : 8 Question Id : 544734488 Display Question Number : Yes Is Question
Mandatory : No

Let A be a n X n matrix such that A is upper-triangular. Then adj(4) =
A28 nXnardgs. Aws dd Q22 Jr3s ond. adj(4) =
Options:
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lower triangular matrix

| OMD 8208 J73S

upper triangular matrix

) DD BEOW T3S

diagonal matrix

 DEB ArdE
3 % ]

scalar matrix

4 % QT QNS

Question Number : 9 Question Id : 544734489 Display Question Number : Yes Is Question
Mandatory : No

Let Zy ,Z, , Z3 be three non zero complex numbers such that a = |Zy|,b = |Z,] ,¢ = |Z5] . if

C
al=0,.then
b

- o

a
the determinant | b
C

7y, 25,25 0 30PC APR(B6 0086 vowfen a = |24],b = |2,], ¢ = | 5] eociiogeoen

a b ¢
b ¢ a Dg“r:isxm ‘mﬁl 900
c a b

Options:
1 % 1Z,| = |Z;| = |Z3| = abc

5 1Zy| +1Z;] +125] =0

3 % 1Zy| + |Z2| + |Z3] = abe
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|Zl = Zz| = |Z;a = 23|

Question Number : 10 Question Id : 544734490 Display Question Number : Yes Is Question

Mandatory : No

If Izl * zz|2 = Iz:1|2 + |zz|2. where z, and z, are two complex numbers. then
2 2 2
Z, ,Z, }f.}oég ‘r’onaalsvsb |z1 + 22| = |zl| + |z'2[ QDA

Options:

Z] .

— 1s purely real

Z2

|
T 06 TR N
Zo © =

1. %

— 1s purely imaginary

— 306 s&_)e:b Ro8d

Question Number : 11 Question Id : 544734491 Display Question Number : Yes Is Question

Mandatory : No
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: , . f3-dax , ,
A real value of x will satisfy the equation (3 7 ) =a—if (a,f arereal). if
X

3-4 -
( Lr) = a—if (a,f o0 TR muaasw) R ‘fobascwnl X R TR Do) LRI

3 +4ix
Options:
2 - 3
8 & =R =1
2 -
g
2 2 _
3¢ @ +p°=1
2 2
4, 'E =B =2

Question Number : 12 Question Id : 544734492 Display Question Number : Yes Is Question
Mandatory : No

9
What 1s the value of( Ko \‘Fg) =

m—
(1-iV3) cowg) Jewd

Options:

% 20

9
2. & 2
3. ® 291'

4. % —20
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Question Number : 13 Question Id : 544734493 Display Question Number : Yes Is Question

Mandatory : No

2020
V6—v2  VJ6+42 .
+ 1 =
4 4
Options:
1 V3
— e l
1. % 2 .
—k x‘§
e —i
2. % 2 ‘
-1 V3 .
l
3 % 2 2
1 \—'5 _
l
s 2 2

Question Number : 14 Question Id : 544734494 Display Question Number : Yes Is Question
Mandatory : No

IfFf(10—x)=3x"4+4x—5and f(x) =px*+gx +rthenp+qg+r=
f(10—x) =3x" +4x =5, f(x) = px’ + qx + reoowd p+q + 1 =

Options:
1. % 272

5 @ 274
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, 275

4 % 273

Question Number : 15 Question Id : 544734495 Display Question Number : Yes Is Question
Mandatory : No

For a # b. if the equation x*+ax+b=0andx* + bx + a = 0 have a common root, then

the valueofa + b =

a # b eand. v +ax +b =0 208w 1’ + bx + a = 0 BTV &) d
Q0r03w08. a + b g, WV

Options:

1.v 1

Question Number : 16 Question Id : 544734496 Display Question Number : Yes Is Question
Mandatory : No

If the product of the roots of 9x® + 112x* - 120x + a = 0is 12, then the value of ‘a’ is

0> £ 112¢% = 120x + a = 0 Hdeon arero opi 12 0owd, ‘a’ g, desd dod?

Options:
. % —1e
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. v —108

108

Question Number : 17 Question Id : 544734497 Display Question Number : Yes Is Question

Mandatory : No

2 + /5, 1 are roots of the cubic equation given by

& Sod D0 PECETEIE 2 + V5,1 a0 Sareren 29T

Options:
1w & 3% —B—1=10
5 u % —3¥ +33—-1=0

, x3 —5x24+3x+1=0

4 % x> +5x2—-3x+1=0

Question Number : 18 Question Id : 544734498 Display Question Number : Yes Is Question

Mandatory : No

A set contains 11 elements. The number of subsets of the set which contain at most 5 elements 1s

28 ABE" 11 Saresanen &), 28) 8 GHVDAE" (BT 5 ArusSne Goltm
DR GOV Esotron?
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Options:

B A R

1™

. 12(:»1 £ 12C3 4 126-5

. 5 11C0+ 11C1 + 11C2 + 11(:-4

11C0 + 1161 & 1162 4 11C3

4,%

Question Number : 19 Question Id : 544734499 Display Question Number : Yes Is Question

Mandatory : No

4 _3 2
2xX —Xx"+3x"—x+4 A B
If = —=oflx) = + then
Xo—3x+2 x—1 xX—2Z
2x4~x3+3x2—x+4 ) : A : B &
= X o0
x%—3x+2 f ' x—1 I x—2
Options:

o fO)=2x"+5x+14.4+B =39

, x FG)=2x"—5x+ 14,4 +B =31
3W,)f(.r):21’2+51‘+l4.A+B:31

g x fG)=2x"+5x+14.A=4,B=35
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Question Number : 20 Question Id : 544734500 Display Question Number : Yes Is Question
Mandatory : No

Let 6 be an angle in the standard position such that the point (-5, 12) lies on its terminal side.
then

Fareds droand’ God S 0 Wodi ad (=5, 12) Hotad) ot LYY

Options:

| % |sinf| = —sin @

 |cosB| = cos @

2. %
3 o |tanf| = —tan6

_ |cosec 8| = — cosec8
4 o

Question Number : 21 Question Id : 544734501 Display Question Number : Yes Is Question
Mandatory : No

m m I m

A% e o 8 i 2.5 =
If cos  COS— COS——= CcOS— 2" cosec - thenm +n

T 3 T 18 m 3
08— €08 — Sr— —m—— : o P o ! Iit.—
CcoSs n CcoSs 3 COS 16 CcoSs 37 2" cosec = 0N M + n

Options:
1. % 27

3.v 28

4. % 29
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Question Number : 22 Question Id : 544734502 Display Question Number : Yes Is Question

Mandatory : No

3
fA+B+C :?H.thencosZA+cosZB+cosZC=

3
A+B+C =?eﬂm6 cos 2A + cos 2B + cos 2C e

Options:

1 » 1 —4sindsinBsinC

5 R 1+4sinAsinBsinC

3 & 1—2sinAsinBsinC

4 % 1+2sindAsinBsinC

Question Number : 23 Question Id : 544734503 Display Question Number : Yes Is Question
Mandatory : No

Tan"*(—2) — Tan"!( 3) is equal to
Tan™'(—2) — Tan™!( 3 ) £ BATIH Dewd

Options:
31
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Question Number : 24 Question Id : 544734504 Display Question Number : Yes Is Question
Mandatory : No

sinh(x + y) cosh(x — y) is equal to
sinh(x + y) cosh(x — y) 8 VATFIHE
Options:

1
— (sinh 2x + sinh 2y)
1. 2

5> » (sinh2x + sinh 2y)

— (sinh 2x — sinh 2y)
3, %

(sinh 2x — sinh 2y)

4, %

Question Number : 25 Question Id : 544734505 Display Question Number : Yes Is Question
Mandatory : No

What is the value of (@ — b)? cos? —Z- + (a + b)2 Sil]z-;— -

(a — b)? (,‘052% + (a+ b)? siuz% DL DATIHE
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Question Number : 26 Question Id : 544734506 Display Question Number : Yes Is Question
Mandatory : No

In AABC. suppose the radius of the circle opposite to an angle A 1s denoted by ry. similarly

r, & angle B. 13 & angle C. If r; = 2,1, = 3,1; = 6. then what 1s (a, b, ¢) =

Szoaan ABC &° 80 A & dEODT Gol 3y TG0 17 0B orT 13 00 B.13 ©
§00C. 1y = 2,1, = 3,13 = 6 000 (a, b, ¢) % AATFIDHO

Options:

3‘36 (51 4: 3)

. w188 4

Question Number : 27 Question Id : 544734507 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

Mandatory : No



AP EAPCET 2021

Ifin AABC.atanA + btanB = (a+ b) . tan (#). then which of the following holds?

92030 ABC & atanA + btanB = (a+b). tan (%) oS & S08 TS O
Dads3)Bss

Options:

Question Number : 28 Question Id : 544734508 Display Question Number : Yes Is Question

Mandatory : No
fa=i+)+kb=i-j+2kand T=xi+(x—-2)] — kandifthe vector  lies

in the plane of vectors a” and b and then ‘x’ equals
T=i4]+hkb=10-]+2k d08ead) d0a06' T =xi +(x-2)] - k %04
Gobd x =

Options:
0

1.8
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4, —2

Question Number : 29 Question Id : 544734509 Display Question Number : Yes Is Question
Mandatory : No

Letu = 2i 4+ j and v = 3i — 5j. Consider three points P, Q and R having the position vectors

5 7 9 , — : :
(?) i—2], (?) i— jand (I) i respectively. Among these, the points in the line passing

through u and v are

5
w=2i+j 8ot v =3i-5j. P,Q,R 3 Dot .g"sﬁ NGB SR (?) i—2],
7 9
(;) i — ] «0bodn (I) o8, u B30 v © Mot T'ad F @ DoddPHew Gotrav.

Options:

Only P and Q
| P 3oBatn Q 2rgd

Only P and R
. P 0bain R g

Only Q and R

L Q 20805 R 2@

AllP,Q and R
.« P,Q 2000w R

Question Number : 30 Question Id : 544734510 Display Question Number : Yes Is Question
Mandatory : No
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The point of intersection of the lines joining points i +2 j.2 1 — j and—1i, 2 i is
T427.21 — ] 08050 -1, 2 1 Doy 9% B0 Dokd Do)
Options:
5

=%
1.4 3

3f+j

2.% 5

Question Number : 31 Question Id : 544734511 Display Question Number : Yes Is Question
Mandatory : No

@xb) '+ (@)
1S

2@ (@)

The value of

@xb)’+ @) _
2 @2(B)

Options:
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NIH

-[h-lt—i

Question Number : 32 Question Id : 544734512 Display Question Number : Yes Is Question
Mandatory : No

leta=i-j, b = j—kand? = k- i .1fd isaunit vectorsuch@ b =0 =
[FFF] then d is

—_'p

k-1 20%0% d cordS 088 -h =0=

a=i-j,b=j—kabaw?
[bcd] L Got) WY\ d =

Options:

+ —=

-+
[

o

-
[

4. %

Question Number : 33 Question Id : 544734513 Display Question Number : Yes Is Question
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Mandatory : No

Let u and v be two nonzero vectors in R with the intermediate angle 45°. Then |u X v | =

R® &5 1 208050 v 9 Botd SrA[B6 630 ©od6 45° S wond, |u X v | Dewsw
DAT RO
Options:

= lul vl

Question Number : 34 Question Id : 544734514 Display Question Number : Yes Is Question

Mandatory : No

The equation of the plane passing through 3i + 2j + 6k and parallel to the vectors 2i + j + k
andi—j+kis

3i + 2] + 6k DooPw oot VA 2i +j + k 208050 i — j + k 08 DAPBEANT Gol
B8 REGRA DB

Options:

x+y+z=11

1%

, g 2X—y—3z=-14

. % 2x—y+z=10
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x—2y+3z=17

Question Number : 35 Question Id : 544734515 Display Question Number : Yes Is Question
Mandatory : No

Given @ =31 — J, b =27+ i-3%k and b = b, + Eu*herebjis parallel to @ aﬂdb_;

is perpendicular to a’ then E; 1s equal to

=

@=30-],b=20+]-3kBotwd&%ww b = by + b, wakier 7 8

DATOBEANTT by 063 7§ VoA by 6% ol b, =

Options:

i . "

—i14+—j—3k
1.v 2

- WU = 2
By j+3k
i

1 A—

TR el g
3.8 B

1 X = o

— i ——j—3k
4.% 2 £

Question Number : 36 Question Id : 544734516 Display Question Number : Yes Is Question
Mandatory : No
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If the mean of a data x” is 10 and if all the observations are multiplied by 2. then the mean of

new data 1s

08 (5grod AERVAN T 030 10 BPHB0od. Bgros HOTVIL 286 AV 2 §
oedors 365y §8 Gigrod [ Dewsd

Options:
1. % 30

2. % 13

3.% 90

4 20

Question Number : 37 Question Id : 544734517 Display Question Number : Yes Is Question

Mandatory : No

A comn 15 tossed until a head appears or 1t has been tossed thrice. Given that head doesn’t

appear on the first toss, the probability that coin tossed thrice 1s

5" SOWE 68 TO° P DTHADAVL) QB AV{HGD 28 THLW HEITE.
068 Sk m& SRRGAR)G, TED i’r’go T30 G0N ":003,?;‘)56 Jodh?

Options:
2

1.¢ 3

1
2. % 3

-::.|m
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Question Number : 38 Question Id : 544734518 Display Question Number : Yes Is Question
Mandatory : No

Box-I contains 3 cards bearing numbers 1, 2, 3: Box II contains 5 cards bearing numbers

1,2,3,4,5 and Box III contains 7 cards bearing numbers 1,2,3,4,5,6, 7. One card 1s drawn at

random from each of the boxes. If x; be the number on the card drawn from the i box. i =
1,2, 3. then the probability that x; + x, + x5 15 0dd 15 equal to

2068 begej“ 1,2,3 Rdoajporie S Jocsd :)eges‘ 1,2,3,4,5 Rdoajevrv s°6R0, Jur6d
:aegeﬁ‘ 1,2,3,4,5,6,7 dopjrrio s°Gw eaia. i S o0 K0 3 SO x; T DRVEI08]
X1 123 1 X3 89 Do TS VoS dod?

Options:
23

1. ® 105

53
2.v 105

43

33

Question Number : 39 Question Id : 544734519 Display Question Number : Yes Is Question
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CJ."
The range of a random variable X is {1,2,3.....}and P(X = x) = o~ for x =

1,2,3,...... Then the value of C 1s

X

L
w8 QI d)3¢ SoTd X A T {1,2,3.....} 20 P(X =) ==, x=123,....

00 ( aws), méés R0 doch?

Options:

1.8 0

In (2) ( where in — denotes the natural log )

s 4 In (2) ( In — oS 2 log )

In (3) ( where In — denotes the natural log )

4% In (3) ( In — e D2 log )

Question Number : 40 Question Id : 544734520 Display Question Number : Yes Is Question

Mandatory : No

Tom and Jerry play a game of alternately throwing an unfair comn. First one to get head wins, If

Tom starts the game, he has 62.5% chance of winning the game. Suppose this coin s tossed 5

times, then the probability of getting exactly 3 heads 15

P SHBAID B0 28 FES TEHI) WO AOTS wEE IO DALPAINY” BT
2308 5"} 068 T A/ EPATW. EP) B8 ANENCS BB A Roxrid(d

62.5% eyt @) 5 T A 3 T & 0 o M oz (8

Options:
144

1« BE28
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3 % 625

100
4 % 625
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Question Number : 41 Question Id : 544734521 Display Question Number : Yes Is Question

Mandatory : No

A point moves so that the Sum of its distances from (ae, 0) and (—ae, 0) 1s 2a. then the

equaton to its locus where b® = a?(1 —e?) is

(ae,0) 2085w (—ae, 0) DoBoYL Aot 28 VoY (0 ArTL WG 2a VAL
Dotiay) S0 0d. LoD Do) DodNEw

'90‘)3‘6).

Options:

Il

AP EAPCET 2021
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Question Number : 42 Question Id : 544734522 Display Question Number : Yes Is Question

Mandatory : No

The point to which the origin should be shifted i order to elimnate the x and y terms from the
equation 9x° + 4y + 10x + 12y + 1 =01is

0x% + 4y% 4+ 10x + 12y + 1 = 0 22086050 &0 1 2B0L V¥ HTV §°Dod Botwbid)
270D H8rode BB T D Do) S Ard ST

Options:

52)
% \9 "2

Question Number : 43 Question Id : 544734523 Display Question Number : Yes Is Question
Mandatory : No

If A(1,3)and C(7,5) are two opposite vertices of a square, then find the equation of a side
passing through A.

A(1,3) 208030 C(7,5) o0 8 ed00R80 dwg), Soc H(38E FTen wowd. 4 for

Faib 28 22 PRSI HBoEAY,
Options:
| % X=Y
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> x X—2y+1=0

4 ZX=3y+1=4

Question Number : 44 Question Id : 544734524 Display Question Number : Yes Is Question
Mandatory : No

‘C" is the centroid of the triangle with vertices (3,—1).(1,3) and (2,4). Let ‘P’ be the point

of intersection of the lines x + 3y — 1 =0and 3x — y + 1 = 0. Then a line which passes

through both pomts € and P would also passes through the point

(3,-1).(1,3) &0t (2,4) 0F oG GFoay Soderddn C". x +3y-1=0
08050 3x — y 4 1 = 0 S0 Dot Doty ‘P’. Lo, ‘€’ 2Basw ‘P’ Dot ot
DA 28 AOVEDR Gol Dot .

Options:
. % (59,77

., (=9,-6)

.+ 9,7

Question Number : 45 Question Id : 544734525 Display Question Number : Yes Is Question

Mandatory : No
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The distance of the point (1,2) from the line x + y + 5 = 0 measured along the line parallel

to 3x — y = 7 1s equal to
30—y = 7 B8 DAToSEANT Gol 88 AT (1,2) Doty Mol x+y+5=0&
(10 Ardan

Options:
1. % 44/10

Question Number : 46 Question Id : 544734526 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a line which passes through (2 cos®(8), 2 sin®(6) ) and is perpendicular
to the line x cos(f) — y sin(#) = 2 cos(26).

xcos(f) — ysin(f) = 2 cos(26) 2EFEDL LotioM™ Eobur, (2 cos’(8),2 sing(ﬁ)) Dot

oot Tl HOVED VLR
Options:

, P sec(@) + y cosec(8) = 2
5 % X cosec(0) + ysec(f) = 2
s x X sin(f) + ycos(f) = 2
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4 % Xxcos(f)+ ysin(f) = 2

Question Number : 47 Question Id : 544734527 Display Question Number : Yes Is Question
Mandatory : No

The value of p for which the equation x* + pxy + y* — 5x = 7y + 6 = 0 represents a pair of

straight lines 1

pry+y:-5x-Ty+6=0 DVSOEAD 28 6&3"0113{1‘&3& ATWR P DI

Options:
5

1.& @

Question Number : 48 Question Id : 544734528 Display Question Number : Yes Is Question
Mandatory : No

If one of the lines represented by ax® + 2hxy + by* = 0 passes through (2, 3) and the other

passes through (4,5). then a + 2h + b equals

ax? + 2hxy + by* = 0 6v8araior) 52 Rrdetd Spud” 2,8 W6¥ER (2,3) Do
oot T, L8k 8'E 6% (4,5) Do) Mot IS, a + 2h + b dewd
Options:

1.3@0
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Question Number : 49 Question Id : 544734529 Display Question Number : Yes Is Question
Mandatory : No

The equation of the pair of straight lines parallel to x-axis and touching the circle x% + y -
6x—4y-12=01s

P+ y% = 6x — 4y — 12.= 0 30 DRV 1-OFAS DAToSEIT ol Sarahor)
O0E6RAN

Options:

; oY -y -21=0

, % ¥2+4y—21=0

_ y2—4y+21=0

ax Y t4y+21=0

Question Number : 50 Question Id : 544734530 Display Question Number : Yes Is Question
Mandatory : No
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If the lines represented by the equation 2x% — pxy + 2y* = 0 are real. then the value of ‘p’

lies in the mterval

2x% = pry + 2% = 0 dadgomn ardotd Swe TS w0 wokiwty P’ L vowd
VN0 WodBAN

Options:
1. 8 [H4 !4]

2 [H4:4)
3. ¢ (—2,—4)U (4,0)

4. 8 (_4:4]

Question Number : 51 Question Id : 544734531 Display Question Number : Yes Is Question
Mandatory : No

The points where the circle x* + y* — 3x — 4y + 2 = 0 cuts the x-axis are

x? +y? —3x — 4y + 2 = 0 53w x-0x) Dot 3¢ otioB

Options:
% (1,2) & (2,0)

, % (2,0) & (3,0)
3 ® (0,2) & (0-1)

4 (1,0) & (2,0)
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Question Number : 52 Question Id : 544734532 Display Question Number : Yes Is Question

Mandatory : No

The center and radius of the circle x* + y% + 8x + 10y — 8 = 0 respectively are and

units

v2 4 y% 4 8x + 10y — 8 = 0 Ardotd 5578 So@d Sodakn TRTL SR
20850 VNI

Options:

, % (4,5), 49
, » (—-8,-10), 8

4, R (_4‘:5)1 7

Question Number : 53 Question Id : 544734533 Display Question Number : Yes Is Question
Mandatory : No

The poles of the tangents fo the circle x? + y% = 4 with respect to the circle (x +2)% +y? =
8. lie on

(x+2)* +y% =8 3320 dyar x* + % = 4 35708 (i 016,800 G)T0 Do

)
Options:
‘.'2 £ e
1 @2 +8x =0
.2 e
5 x X+ 8y =0
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}‘2 — 8x =

Question Number : 54 Question Id : 544734534 Display Question Number : Yes Is Question
Mandatory : No
If the power of the point (1, 6) with respect to the circle x* + y* + 4x — 6y —a = 0 is ‘=16’

then ‘a’ equals

x4yt +4x -6y —a =0 B8 aagnﬁ (1,6) Dothosy gy, Docko$d ‘~16' Lo,
‘a’ 200D

Options:
1. 5

2, 8 14

3_&'21

4% 6

Question Number : 55 Question Id : 544734535 Display Question Number : Yes Is Question
Mandatory : No

The equation of radical axis of the circles x* + y> +4x + 6y +7 = 0 and 4x> + 4y + 8x +
12y-9=01s

Y2+ yE+4x+6y+7 =0 28050 4x° +4y% +8x + 12y - 9 = 0 Hygre Aurergaw

RDEGRE
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Options:
1 % x+y+1=0
, x 8x+12y =0

3 o 8X+12y+37=0

L EIYHT=0

Question Number : 56 Question Id : 544734536 Display Question Number : Yes Is Question
Mandatory : No

The radical axis of the circles §;: x* + y* —4x + 6y — 10 = 0 and Sp: x* + y* + 2x — 6y +

2 = 0 cut the circle §; in

Si:x? +yE —4x + 6y —10 = 0 2805w S,: 1% +y2 + 20— 6y + 2 = 0 oo
QUPrEAD S ST 96 DototI.

Options:
two real and distinct points

i 806 DAV) TS VoYY

one real point

5w WS TRD Do)

mmaginary points

3 % 9T°D DoPHV

can’'t be determined

LQU*BotIeT S0
4.% @
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Question Number : 57 Question Id : 544734537 Display Question Number : Yes Is Question

Mandatory : No

The point of intersection of the latus rectum and axis of the parabola y? + 4x + 2y -8 = 0 is

y? 441+ 2y - 8= 0 HoS00HAD Ing) TDeoto 200050 ©FANY Dot Dot

Options:

5 )
1, N

ke Y
2.v \4

s )
3. % 2 2

Question Number : 58 Question Id : 544734538 Display Question Number : Yes Is Question

Mandatory : No

If the focal chord of the hyperbola subtends a right angle at the center. then its eccentricity is

28 BBVTHVANY T &) T Sogo I Low ET) 61BN, & LSHTIVAW VY

63) 088

Options:
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2, % -
\,"g"l*l
g —
3. ¢ .
v3+1
e —
4. % 2
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Question Number : 59 Question Id : 544734539 Display Question Number : Yes Is Question

Mandatory : No

The direction cosines of the line joining the points (-2 ,4,-5) and (1,2,3) are

(=2,4,-5) o800 (1,2,3) Docdapoiy 85 S awwsg), &5 §pdven

Options:
3 o
(

8

1@ V77 N77 V77

3 2

8

(

> % V77 N77 77

5 o0 {1580)

-3 -2 8
(

a8 &7 IFH

)

)

)

Question Number : 60 Question Id : 544734540 Display Question Number : Yes Is Question

Mandatory : No
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The points (2,3 ,4).(—1,—2,1) and (5,8,7) are

(2,3,4).(—1,-2,1) 208050 (5,8,7) Docoayyen

Options:

collinear

| o PBDAT

vertices of a right-angled triangle

: & 28 Lo JZRYR T

vertices of an equilateral triangle
208 DJVEFITV IR ITW

vertices of an 1sosceles triangle

208 DAALETTV SR I
4. % -

Question Number : 61 Question Id : 544734541 Display Question Number : Yes Is Question
Mandatory : No

The sum of intercepts of the plane 4x 4+ 3y + 2z = 2 on the coordinate axes is

4x + 3y + 2z = 2 S03D AEFHSTTVS S0 LoBEOETY DVSEW

Options:
13

1.¢ ©
2. % 9

13
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Question Number : 62 Question Id : 544734542 Display Question Number : Yes Is Question
Mandatory : No

11x° -3x+4)\ a
If lim = — then the value of a + b equals
x=0\13x3 —5x%2 -7 b

11x° —3x 4+ 4 a
lim . : = — 003 a + b Ded
x-0\13x3 —5x2 -7 b

Options:
1 % 11

> % 13

3. ¥

4. 4

Question Number : 63 Question Id : 544734543 Display Question Number : Yes Is Question
Mandatory : No

1 —x 1—2 ...... '1_'_2?!
lim ( ! 5 (' ; _)2 = ,VNEN
x—=1 {(1 ol .1')(1 —_ _172) ...... (1 = x“-_)}

Options:

ZﬂP

1.% m

2.V

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

3 = (2n)!

(2n)!

Question Number : 64 Question Id : 544734544 Display Question Number : Yes Is Question
Mandatory : No

lng,_;,(l + x%(tanx) ;
Iff(x)= T . X # 0 15 to be continuous at x = 0, then f(0) must be equal to
| lnge(l + x%(tan x))

f(x) = = X # 0 900w x = 0 5¢ amgalan sarold, f(0) &
Dggﬁdﬁbvb& NIV
Options:
.ot
2.% 0

1
3 8 2
4. % 1

Question Number : 65 Question Id : 544734545 Display Question Number : Yes Is Question
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2
dy
If x =secl —cosf and y = sec™ @ — cos™ 6, then (x* + 4) (.d_'in) B

d 2
x = secB —cosf 0Bak0 y = sec™ 6 — cos™ § eond, (x* + 4) (f) =

Options:

, x n(y+4)

5 & n?(y? +4)

3 % n(y +2)

4 % n? (}?2 + 2)

Question Number : 66 Question Id : 544734546 Display Question Number : Yes Is Question
Mandatory : No

If f(x)= 1 2x 3x2|. then the ratio ) s =

FO)=]1 2x¢ 3x2| @owd. f(x) ¢ f'(x) Dxyd =

Options:

1.# 25X
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Question Number : 67 Question Id : 544734547 Display Question Number : Yes Is Question
Mandatory : No

4x dy
C = —— " B " _‘1 — —
If y=log_,,tanx —log, ., cotx + Tan (4—.1-2)‘ then =

y =log ., tanx — log, . cotx + Tan " (4

Options:
1
4+x2

1. %

Question Number : 68 Question Id : 544734548 Display Question Number : Yes Is Question
Mandatory : No

If y=sin(sinx)and y" + f(x)- v+ g(x) -y = 0. then f(x) - g(x) =
y = sin(sinx) 08050 v+ f(x) -y '+ g(x) -y =0 @0d. f(x) g(x) =

Options:
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1
— sin(2x)
1.¢ 2

— cos(2x)
2.

3 % sin(2x)

4 % cos(2x)

Question Number : 69 Question Id : 544734549 Display Question Number : Yes Is Question
Mandatory : No

A spherical iron ball 10 cm in radius 1s coated with a layer of ice of uniform thickness, which
melts at a rate of 50 cm® /min. When the thickness of the ice is 15 cm. the rate at which the

thickness of 1ce decreases 1s cm/min

10 cm YD (0 18 HYP0E) (ocoiy D63 Svacsol” ot pam
ArHILEE. & orss DNADS 50 cm? Ty SIS B. & S0t 0w
15 cm 6:3) ). T Aotiods” Bfocse) 360 NS cm

Options:
5

1 % O
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Question Number : 70 Question Id : 544734550 Display Question Number : Yes Is Question
Mandatory : No

Find the minmum value of 2x + 3y when xy = 6.
Xy = 6 oS 2x + 3y s, 5:)%1 I3V

Options:
1. % 9

2. v 12

Question Number : 71 Question Id : 544734551 Display Question Number : Yes Is Question
Mandatory : No

The volume of a spherical balloon 15 increasing at the rate of 30 cc per minute. Find the rate of

change of surface area of the balloon. when its radius 15 6 cm.

28 Avrsd duaﬁ LG CVS), DADBATEIA QAars 30 cc tS”.;JJa DOAS0B. ¢
VALY vsbga» 6 cm T &) Py T GBS PTG’ Srddy B

Options:

2 1

1 % O cmi.min
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o« 30 em?.min™!

2

3 10 em?.min~?!

4 % 20 cem?®. min~}

Question Number : 72 Question Id : 544734552 Display Question Number : Yes Is Question
Mandatory : No

s 3w 1 y
If g(x) =Ef(3,r - 1) +:f(1 —x%).V x €R, where f"(x) > 0.V x € R. Then g(x)

s ncreasing in the mterval

1 1 .
Vx€ER. g(x) =Ef(3x2 - 1) +?f(1 - xz). &Y xER f"(x) > 0. ®owd. g(x)

u&‘:m&&oﬁa& 290330

Options:
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Question Number : 73 Question Id : 544734553 Display Question Number : Yes Is Question
Mandatory : No

If the function f(x) = 2x® — 9ax? + 12a®x + 1 attains its maximum and minimum at ‘p’ and

‘0" respectively such that p? = ¢. then ‘a’ equals

(x) = 2x° = 9ax? + 12a%x + 1 HDHAHAW P’ SBOKD ‘g’ © ¢ BT (8L 080k
Al 0]
S8 e Jold, B p? = q LAL(Er Gofl, ‘a’ Dewd

Options:
0

1. %

Question Number : 74 Question Id : 544734554 Display Question Number : Yes Is Question

Mandatory : No

If f'(x) =x+ % ,then f(x) =

1
f’(.’{') = ¥*F T 9003 ’f(l) -

Options:
x% +log(x) + ¢

1.%

2

X
—+ log(x) + ¢
2.v 2
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3 x X + log(x) + ¢

X
— + log(x) + ¢
4% 2

Question Number : 75 Question Id : 544734555 Display Question Number : Yes Is Question

Mandatory : No
1

If f(x) =

s , then 1ts anti-derivative F(x) = .given F(0) =4
(cos?x)y1+tanx ' .

f(x)

F(0) = 4 o0, F(x) =

= -~ ™ Aarwowedt, f(x) aE), VATEV F(x) 00 28050
(cos“x)y1l+tanx

Options:
Vvli+4tanx +4

1%

2
o B | +tanx)3f2
2 ® 3

3 @ 2(V1+tanx +1)

4 % Vi4tanx +2

Question Number : 76 Question Id : 544734556 Display Question Number : Yes Is Question
Mandatory : No
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If the primitive of cos(log x) is f( ,r.){cos( g(_x)) - sin(h( x))}. then which among the

following 1s true?

cos(log x) a8), DS f (x){cos(g(x)) - sin(h (x))} £ VAT, VYW 308

TS DO D2aw?
Options:
-1
h'(x) =—
1. 8 x
£ ==
X)) =—r—
2. -

, « 9'00) = log(x)

) —
RE ) =—
4. % -

Question Number : 77 Question Id : 544734557 Display Question Number : Yes Is Question
Mandatory : No

f secx P
, =
Jsin(2x + 6) + sin 6

Options:

. % J(tanx + tan @) sech + ¢

5 o \/Z(tanx + tanf)secH + ¢

_ J2(sinx + tan @) sec 6 + ¢
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el V2(cosx +tan @) secf + c

Question Number : 78 Question Id : 544734558 Display Question Number : Yes Is Question
Mandatory : No

w/4

T
If f log(sinx) dx = 8k ,then f log(l1+tanx) dx=__
0 0

- n/4

[log(sin x) dx = 8k e900S f log(1+tanx) dx=__
0 0
Options:
- k
2w Tk

k

3. % 2
4 % 4k

Question Number : 79 Question Id : 544734559 Display Question Number : Yes Is Question

Mandatory : No
1

1
If [.rm( 1-x)"dx =k J x"(1-x)" dx ,then the value of k equals
0 0

1 1

J 2 (1-x)"dx = kJ.J:" (1—x)" dx ©ond, k dewsd
0

0
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Options:

1 % M

3 % mn

4. v 1

Question Number : 80 Question Id : 544734560 Display Question Number : Yes Is Question
Mandatory : No

. , . n S . ‘
The equation of the curve passing through the point (O'T) and satisfying the differential

equation (e* tany) dx + (_(1 + e¥) sec? _1-”) dy = 0 1s given by

(9, %) DoY) ot Tdw, (e¥ tany) dx + ((1+e*) sec? y) dy = 0 &3 edg0d

HRDSOETD) BB S50 CE) VISERSD SV,

Options:

e (14+e¥)tany =2

, x 1+e*=2tany

3 % 1+e*=2secy

4 % (1+e*)tany =
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Physics
Section Id: 54473411
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 81 Question Id : 544734561 Display Question Number : Yes Is Question
Mandatory : No

Which year was declared as the International year of physics?
3 SES TN IVES esoe:&g'écﬁa TAE TR VoIS B0 DS E?

Options:

, % 2002

, % 2003
3. v 2005

4 % 2007

Question Number : 82 Question Id : 544734562 Display Question Number : Yes Is Question
Mandatory : No
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One angstrom (A) 1s equal to:
28 30T (A) Jewd BIS DATHA0?

Options:

1 % 107° mm
5, ¢ 107" mm
5 % 107% mm

4 % 1077 mm

Question Number : 83 Question Id : 544734563 Display Question Number : Yes Is Question

Mandatory : No

An object 1s moving with a uniform acceleration which 1s parallel to its mnstantaneous direction

of motion. The displacement(s) — velocity(v) graph of this object 1s

——— e

28 JY) ‘romejsdmmg éa‘@él&. &R SO0 BF ST © WON BIN VATredGANT
63) 8. S g g"égné&‘m (s) = Shdw (v) T

Options:

A~
s
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F 3
5
»
0 v
F
5
>
3.¢ ¥
-~
S
-+
4. % © v

Question Number : 84 Question Id : 544734564 Display Question Number : Yes Is Question
Mandatory : No

A hiker stands on the edge of a cliff 490 m above the ground and throws a stone horizontally

with an initial speed of 15 m.s ™. The speed with which it hits the ground is

Zrad 06 490 m oL S0tk otdAC 28 T0NA £ DATFdEAV™ 15m.s7

A0S DTG, 98 ZraDD TP AW

Options:
1 &9 m.s 1
, x 101 m.s™?
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3 % 103 m.s~*

4 x 105 m.s™*

Question Number : 85 Question Id : 544734565 Display Question Number : Yes Is Question
Mandatory : No

Two paper screens A and B are separated by 150 m. A bullet pierces A and then B. The hole m
B is 15 cm below the hole in A. If the bullet is traveling horizontally at the time of hitting A.
then the velocity of the bullet at A is: (g = 10 m.s™%)

Goc) SR B0 A 80k B e 150 m drdawe’ S0 dobad &) ow. 2,8 g A
0o 863 B 0 24 D58 ) ). A Go@nded 15 cm Sotd B Goddn &3)8. A & ¢
R DDAV LT £33 DAreddANT DaLrtiodond A e aTE) Dl dodh?
(g=10m.s%)
Options:

. % 100vV3 m.s7?

> % 200\/5 m.s 1}

3 % 3003 m.s !

<3
4 < 5003 m.s

Question Number : 86 Question Id : 544734566 Display Question Number : Yes Is Question
Mandatory : No
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A 30 kg slab B rests on a frictionless floor as shown in the figure. A 10 kg block 4 rests on
top of the slab-B. The coefficients of static and kinetic friction between the block 4 and the

slab B are 0.60 and 0.40 respectively. When block-A is acted upon by a horizontal force of

100 N. as shown, find the resulting acceleration of the slab-B.(g = 9.8 m.s™%)

100N
+—

/‘ A(10kg)

[ B (30 kg) V

30 kg 600 o H0S HLKWES" ErHdt W 6 Sup 696, 10 kg b o B
08D D8y DIY" 6B, B B0k DSL | BS g HSIW 0.60 LN (s
2066 0.40., 10 kg © 630 100 N © £32 2irodd wwwd S8, g =98 m.s™

oNd DS TS 5O (02

Options:

. % 0.98 m.s™°

, % 147 m.s7?

3 % 1.52 m.s2

4 131 m.s 2

Question Number : 87 Question Id : 544734567 Display Question Number : Yes Is Question

Mandatory : No
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1

A ball of mass 3 kg, moving with a speed of 100 m.s™*. strikes a

wall at an angle 60° (as shown 1n figure). The ball rebounds at the
same speed and remains in contact with the wall for 0.2 sec: the

force exerted by the ball on the wall is:

3 kg ¢550°3 (o 08 100 m.s ™" Sidwd Hasredie 60°
Enand FE ¢80, (D08008° drdde) 0.2 sec e HEd
06,6 God., e DMind wod 20088 HosreiodB. e Do
2o POIrAeR VAN dodh?

Options:
. » 1500¥3 N

, » 1500 N
5 % 300V3 N

Question Number : 88 Question Id : 544734568 Display Question Number : Yes Is Question

Mandatory : No

An engme develops 20 kW of power. How much time will it take to lift a mass of 200 kg to a
height of 40 m? (g = 10 m.s™%)

28 Q0B &m%m 20 kW. 200 kg S50°30 40 m £ B0 IBErAS Jod VAW
200? (g = 10m.s7%)
£)

Options:
1.« 45

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 89 Question Id : 544734569 Display Question Number : Yes Is Question
Mandatory : No

Two bodies having kinetic energy i the ratio 4 ¢ 1. are moving with same linear velocity. The ratio of

thetr masses 1

8 B)ah) i, ot 3000 4 : 1 AiaydS° (5380 $0h &) d. 6 BS(000 Ay Dod?

Options:
o A3 2

1. %
> % 121
3‘\:/4:1

48134

Question Number : 90 Question Id : 544734570 Display Question Number : Yes Is Question
Mandatory : No

Water is falling on the blades of a turbine from a height of 25 m. 3 X 10° kg of water pours on

the blade per minute. If the whole of energy is transferred to the turbme, power delivered is:

25m g0 &od £F)S A B A HEIBB. 9O DS G e 3 X 10° kg A
5628008, A $30 )58 103G BeBeddLond, e 3O FWY AW dod?
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o 12250 W

, % 16250 W

5 % 8250 W

4 % 20250 W

AP EAPCET 2021

Question Number : 91 Question Id : 544734571 Display Question Number : Yes Is Question

Mandatory : No

As solid sphere of mass “M " and radis ‘R’ spins about an axis passing through its centre making
600 rpm. Its kinetic energy of rotation 1s

M @03, ‘R’ 35&3.33 (0 28 AT T So@aw Ao J'ah ©go Dot 600 rpm

568 gorren BRud) 6. T Fe (39 Jod?

Options:

80mr MR

2 2
4 80m- MR

Question Number : 92 Question Id : 544734572 Display Question Number : Yes Is Question
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Mandatory : No

Two fly wheels A and B are mounted side by side with frictionless bearings on a common shatt.
Their moments of inertia about the shaft are 5.0 kg.m* and 20.0 kg. m? respectively. Wheel A
1 made to rotate at 10 revolution per second. Wheel B, itially stationary. 1s now coupled to A

with the help of a clutch. The rotation speed of the wheels will become

A 208030 B 093 Gocd) A0S B350 g &9 FTroe QB g &9 8806 (3%} ),
28] BA6\E. AR DS T8 26 grdsren HdR™ 5.0 kg.m* LHdakw

20.0 kg.m*. 5830 A 3O VS0 Forren BR00B. AL 8w gaes‘ &) g B &8
2eFaAS A § 288509 EIRA. K5V F6H AN Jodd BY)RA?

Options:

- 24/5 rps

5 % 0.5 rps

3.v 2 1PS

4 % 3 rps

Question Number : 93 Question Id : 544734573 Display Question Number : Yes Is Question
Mandatory : No

In case of a forced vibration. the resonance wave becomes very sharp when the:

RSy SoDTR DRADANS’, QYYD VRTE SBT3 BN IGYEB0H?

Options:

quality factor 1s small
| (06 EPREAN BLYD &)

2.9
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dampening force 1s small
OIS VA BLY D 6B) P&

restoring force 1s small
_ ‘Q)é:.g":as IRVAL BLYD GAY YYD

applied periodic force 1s small
| R0I0S 5562 LIVAD BEND D) DD

AP EAPCET 2021

Question Number : 94 Question Id : 544734574 Display Question Number : Yes Is Question

Mandatory : No

If the earth stops rotating in its orbit about the sun, there will be variation i the weight of our

bodies at

—

:mb]g:) Wt Ss.?geff SN AV CE), Feeaw BHS SWYPL LT 0

OB%W

Options:

Equator
z;r;a)c;ss o ag

1%

60° latitude

_ 60° ©9FroBID SO0
2. ® 5!

Poles
Cﬁaﬂ"t} b}
% o

Nowhere

:DSZ’C"’ sS°C)
4. &
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Question Number : 95 Question Id : 544734575 Display Question Number : Yes Is Question

Mandatory : No

At what depth below surface of the earth, the acceleration due to gravity will be half its value
of that at 1600 km above the surface of the earth?

B G800 Aol 1600 km " &) MASKBIGHL ewsses’ dridw ews
OGS A GDBSVEN Aol Jod B0 bv'oa?

Options:

| @ 43x10°m

, x 319%x10° m

3 x 1.59 X 10° m

4% 55x% 10° m

Question Number : 96 Question Id : 544734576 Display Question Number : Yes Is Question
Mandatory : No

The dimensions of stress 1s

DS DS Jrdo e

Options:
-1 =2
o [MLET]

5 u IEE2TY]
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, u IMIET2)

% i LML %]

Question Number : 97 Question Id : 544734577 Display Question Number : Yes Is Question
Mandatory : No

What causes the free surface of a liquid to have minimum area?

5530 TNS), ATy EDOBVAN IR PTORIN SR Gocerd S6rAD AL?

Options:

Viscosity

) (e
% e

Surface tension
DVBI(S

2.

Diffusion

3 % QR0

Pressure

| DERBAD
4, %

Question Number : 98 Question Id : 544734578 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): The upper surface of the wing of an aeroplane 1s made convex and the lower
surface 1s made concave,

Reason (R): The air currents at the top have smaller velocity and thus less pressure at the bottom

than at the top.

DB (A) 1 28 DATIAD A T8 D BVANRY LFTEA MR $od BVANA
QDEPSOI0 M) Soirt) .

608w (R) : 0 Hafen » erdand’ 389,39 DTy 9 obran. 0NN 2 WP
St S0t DGRAD B8 3.

Options:

Both A and R are true and R is a correct explanation for A
" A 08030 R Godr 208 200350. R, A £ 209008 OG0

Both A and R are true but R 1s not a correct explanation for A

5 A 8030 R Godior D8 90080. R, A £ 209008 D568 5760

A is true. R 1s false

o P A D0 2200008, R D0 20008 570

A 1s false. R 1s false

4 % A 2080350 R D8 290035) 572

Question Number : 99 Question Id : 544734579 Display Question Number : Yes Is Question

Mandatory : No
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A glass vessel of volume V, 1s completely filled with a liquid and its temperature 1s raised by
AT. What volume of the liquid will flow over. if the coefficient of linear expansion of glass 1s

g and coefficient of volume expansion of the liquid is y,

V, ;0208:3re0 0% w8 e g w8 @IS QPO oddd. & g aws) eg“ga

AT DocseaC.d6. e og) 89 T8 ADRSAN @y S0 I ARVE) WIHOATE
T8 s y, 0B dod G320 ToATheked?

Options:

_— (v, — 3a,)

. Vo AT (3a; —v,)

2.
3 % (yL = 3“9) AT
n (3{19 — yL) AT

Question Number : 100 Question Id : 544734580 Display Question Number : Yes Is Question

Mandatory : No

A Carnot engme whose heat sink 1s at 27 °C has an efficieny of 40 %. By how much should its

source temperature be changed so as to increase 1ts efficiency to 60 %?

40 % g SOAD a8 5"5‘.1 afoBi CANE), Mot eg"ga 27°C & oos), B3 60 %
380 DochHL) B0 ATNE) eggw‘ Dod Sy Gotrd?

Options:
1. & 250 K

.« 100K
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. 500K

. 350K

Question Number : 101 Question Id : 544734581 Display Question Number : Yes Is Question

Mandatory : No

A diatomic gas 1s heated at constant pressure, what fraction of the heat energy is used to increase

the mternal energy?

0209 DA 36 08 BROITMS T 38 Sabudd, sosge 33D Deskrds 64 3
axs), Qodd a,m":)l GO HRES0H?

Options:
3

R

Question Number : 102 Question Id : 544734582 Display Question Number : Yes Is Question
Mandatory : No
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An 1deal gas 1s taken from state-1 to state-2 through
optional path A, B, C and D as shown in the P-V diagram. A

Let Q, W and U represent the heat supplied, work done P y
and change mternal energy respectively, then

w8 BE6) T ;p:almoc’. QQZQP-V T |
S002006° e DA 4,8,C 280w D 3600 D |
o Sd Tudds. 0, W svtaw U o ghavr  (O0) v
TP BoBod &, 2643 HI 200at Bosde

3§ APOHOR APWY, O

Options:

1 o Qa—Qp =Wy, —Wp

5 % Qg —Wg > Q¢ — W

L x Wa < W <W; <Wp

s 2 U<Q<QU<

Question Number : 103 Question Id : 544734583 Display Question Number : Yes Is Question
Mandatory : No

When the temperature of an ideal gas 1s increased from 27 °C to 127 °C. calculate the

percentage increase 1n 1ts Yeme:

WS UG‘JOQ J°050) CEJOSZ’ egﬁ (a0 27 °C o6 127 °C £ Dodd &R t::GJJSZI Ims (300
&' DAOMGL TAAD

Options:
1 % 37%

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

L« 11%

. % 33%

4 15.5%

Question Number : 104 Question Id : 544734584 Display Question Number : Yes Is Question
Mandatory : No

Two waves are represented by: x; = Asin (wt + 3;—) and x, = A cos wt

Then the phase difference between them 1

x; = Asin (mr + %) 508050 x, = A cos wt & ot BBorine S ¢ Scko

Options:
T
1.% 6

Question Number : 105 Question Id : 544734585 Display Question Number : Yes Is Question
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Assertion (A): The focal length of lens does not change when red light 1s replaced by blue light.

Reason (R): The focal length of lens does not depend in colour of light used.

DB (A): DA F03S LIERUT A Fod TEIYE SLEAD THoB0A AF6e
5630 (R): S84 TB0A0AY T0d Godp BEEOEWD.

Options:

Both A and R are true and R is a correct explanation for A
A 208030 R Goco 28003, 208030 R 938 A & 128G Dddes

Both A and R are true but R is not a correct explanation for A
A 2080350 R Socir DOGHX, 57 R 0938 A & 2800 D36 S0

A 1s true. R 1s false
_ A 28g18, 50 R 08 570

Both A and R are false
5. A 008030 R Color ‘&6@&‘)3 5°a2)

Question Number : 106 Question Id : 544734586 Display Question Number : Yes Is Question
Mandatory : No

The wave front 1s a surface in which

SCoMTHAL 920 w8 £0AD &DBDVAD

Options:

all points are in the same phase

g 28 6535 &) B oD
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there are pairs of points in opposite phase

SiGelehy G5385° &) ©d) Dotapew

there are pairs of points with phase difference (1w /2)

L (1/2) &7 SRS 208 Dotapen

there is no relation between the phases

A% G538 Dotrodaa S

Question Number : 107 Question Id : 544734587 Display Question Number : Yes Is Question

Mandatory : No

Two charges 10 uC and —10 uC are placed at pomnts A and B
separated by a distance of 10 cm. Find the electric field at a point
‘P’ on the perpendicular bisector of AB. at a distance of 12 cm

from 1ts mid-point.

Bocty esdzen 10 uC 8asw —10 ;€ e 10 cm ArdosS” A
0Bk B Dothdew I Sdodober. &) a. AB dig) 6 K

10 uC

P

’
I
|
|
I i
| |
|
|
I
I
|
|
|
|
I

A
|

.

12cm

=10 uC

+

Dotio) 0ol 12 cm Gre0e’, o vow DB Bwp LM

‘P’ Dot 36 IASEER) 08 00.?

Options:

. 164x10° N.C™*

, % 284%x10° N.C™

3 % 82x10° N.C™*

4.
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5% 10° NCH

Question Number : 108 Question Id : 544734588 Display Question Number : Yes Is Question
Mandatory : No

When a number of charged liquid drops coalesce. which of the following quantity does not change?

098 8330 Srren 2T w88 SONT'S, & S0 TS D TR Aro?

Options:
Charge

o (T3t -Fa bl

Capacitance

_ B0,
2. %

Electrostatic energy.

G :ocaays #3
3.8 @

Potential

_ EJoes
4, % -

Question Number : 109 Question Id : 544734589 Display Question Number : Yes Is Question
Mandatory : No

What 15 the angle between maximum value of potential gradient and equipotential surface?
TODHE DIt A8 Dew:ds) DBk W) &DBSLIS B¢k S dods?

Options:
1. 0
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Question Number : 110 Question Id : 544734590 Display Question Number : Yes Is Question
Mandatory : No

The conductivity of a conductor decreases with temperature because. on heating:

TIPEB0 ANE), TrES TGS SH. oIS DEBNDY YD

Options:

Atoms vibrates vigorously
LN LN DDBBHADTT oot

1. %

Conductor expands

. TITEA0 T8 Dot
j o

Electrons gain energy

DT 38D Toa
3.¢ =

Electrons vibrate vigorously

DT DHBBAVT Sodotd
4, % =
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Question Number : 111 Question Id : 544734591 Display Question Number : Yes Is Question

Mandatory : No

Torque required to hold a small circular coil of 10 turns, 2 X 10™* m” area and carrying 0.5 4

current is the middle of a long solenoid of 10° tums per meter carrying 3 A current, with its axis

perpendicular to the axis of the solenoid 1s

29 s 107 oo, 34 Dofd prrans $9A% T Fravd Sog(s”
2x 107 m’ pron 2Bk 0.5 4 e s0h, oD egaw FdTand egaoe
QORI Gotir, 10 ¢t $9A D) 557576 MM DY Goust8 SN £r6), dod?

Options:

en—1
1'\\;,.,12?1’)'{10 Nm

, x 6mx 107" Nm

, % 4% 107 Nm

27 X107 Nm
4, %

Question Number : 112 Question Id : 544734592 Display Question Number : Yes Is Question
Mandatory : No

Two concentric coils each of radius equal to 4m cm are placed at right angles to each other. If
10 A and 24 A are the currents flowing through the cols. respectively. the magnetic induction

at the center of the coils will be

28760 4m cm mﬁavgan $0A Bocd D3B0g) A e wSErAE'SE) VLK &) O,
B0t B0 thaR ol PIerotd NS NP 10 A 0Bk 24 A wand, & 8 toiew
S0 56 Gl A0, 08 D68 dodh?

Options:
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g -
" 13 X 10">wbm

, % 12X 10™>wbm™?
3 % /X 10" *whm ™2

4 % DX 10" *whm™?

Question Number : 113 Question Id : 544734593 Display Question Number : Yes Is Question
Mandatory : No

An a.c generator consists of a coil of 100 turns and is of cross-sectional area 3 m®. It is
rotating at a constant angular speed of 60 rad.sec ™ is a uniform magnetic field of 0.04 T.

Resistance of the coil 1s 360 (. What 1s the maximum power dissipation in the coil?

28 a.c 2006 100 ot $8AS w8 A toky 20Bakw 3m” e[B\6 PTE)
¢BhaD) &. 0.04 T De6S Lo 08 £:08" 60 rad.sec™ B0 St 208 €6
Beorren Binod. Sricoe) DA 360 0. Sricoty (108 300, GOLELAD Jods?

Options:

Lo 720W

, % 518 W

2 % 360W

4 % 100W
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Question Number : 114 Question Id : 544734594 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Magnetic flux 1s a vector quantity.

Reason (R): Value of magnetic flux can be positive negative or zero.

Q3 B3 (A): e.-)o:bb"zjoe:& DTN wE VOB T°3.
s*0ts0 (R): wa'.iab"boej IDTITAN e q&méésan. mwaésm:. oo AT .

Options:

Both A and R are true and R 1s a correct explanation for A
A 208030 R Godr DBADRD. 00030 R 938 A S DBADA DH6ee

1. %

Both A and R are true but R is not a correct explanation for A
5 % A 28030 R Godo® 280D, SO R 038 A & RBADA DIH6E S°C0

A 1s true. R 1s false

L x A RBGB, 5° R 08 s°¢

A 1s false. R 1s true

, v ARB T 5D RDBEIG

Question Number : 115 Question Id : 544734595 Display Question Number : Yes Is Question
Mandatory : No
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The output current versus time curve of a rectifier 1s
shown in the figure. The average value of output current

i this case 18

Current

28 2868) Bed ag), A PIFIE, SVANIL A
D DLANE" SPHTE. & RodEydwe’ A |
DTEP A0 08, iR D

b

Time

Options:
1. % 0

Io
2. % 2

21,

3. T

Question Number : 116 Question Id : 544734596 Display Question Number : Yes Is Question
Mandatory : No

The shortest wavelength of X-rays emitted from an X-ray tube depends upon

X-866 TFAD Aok denAad X-Sdes0 sag @oong%m

Options:
Nature of the gas in the tube

TPFAVS D TPaiD) AB0E), REPDHE0

1.8
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Voltage applied to tube

TS 080D STE

3.

4,

®

®

Current i the tube

0065 DES DIT°H0

Nature of target of the tube

AP EAPCET 2021

P05 D DEFHD TG, DLETTDIN

Question Number : 117 Question Id : 544734597 Display Question Number : Yes Is Question

Mandatory : No

If a photocell is illuminated with a radiation of 1240 A, the stopping potential is found to be 8 V:

then the work function of the emutter and the threshold wavelength are:

26 5708 207D) 1240 A 800fs 350 §D8% Dsmco 30 H5-ReSdAY, AWse
TODS 8V 1 S WO, wowd arrded dng) H H30oaw SBoko Bdod

BGoART® 0 ST
<D § _

Options:
1 % 2eV, 2000 A

2.9

2eV, 6200 A

2eV, 2480 A

3eV, 6200 A
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Question Number : 118 Question Id : 544734598 Display Question Number : Yes Is Question

Mandatory : No

The wavelength of the first spectral line of the Lyman series of hydrogen spectrum 1s

ERD 56 HOZWS'D G 36 Ancse) S AWE), SboriBF B

._‘,;5

Options:
, » 9124

, » 1215A

, o 16124

4 % 6563 A

Question Number : 119 Question Id : 544734599 Display Question Number : Yes Is Question

Mandatory : No

Which of the following nuclear reactions is possible?
S0 TOS” JSROD So@s WG| IB?

Options:

10 - 13 1
B + He* —— N + H

L

24 1 20 4
x 3 11Na + 1H R 1ONe + 2He

szgg — & 9" ¢ B + ¥

93 94

3.
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?N” + 1H1 = 6a::12 +*+ B + v

4. %

Question Number : 120 Question Id : 544734600 Display Question Number : Yes Is Question

Mandatory : No

A change of 0.04 volts takes place between the base and the emitter when an mput signal 1s
connected to the common emutter transistor amplifier. As a result. 20 pA change takes place in

the base current and a change of 2 m4 takes place 1n the collector current. The mput resistance

and AC current gamn are

28 QDAY RodErd) eméd &ord .bgs**bé NoTrdo B BErEaL Qdak eg&e%v G
0.04 3353 360y 3y, DS 20 pd Ardyy BTE DENS HIIPING Ar 2 mA
O8], S0y DEBED De0S DT 308’0 2EMWBE. AED B¢ Bt AC

S DT e

Options:
1kQ & 100

1%

5 2kQ & 100

3 % 2kQ & 1000

4 % 1kQ &200

SectionId :

Section Number:

Chemistry

54473412

3
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes

Clear Response :

Question Number : 121 Question Id : 544734601 Display Question Number : Yes Is Question
Mandatory : No

A subshell n = 3,1 = 2 can accommodate maximum of
n=3,l=2 0% 30b €33 gfmé SOEADH Jozroe (B Doy

Options:

10 electrons

10 Dersroen
1. 8

6 electrons

6 Jozroen
2. —

18 electrons

18 o)og"éw
3. % e

16 electrons

16 Josroen
4. % =

Question Number : 122 Question Id : 544734602 Display Question Number : Yes Is Question
Mandatory : No
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If the work function for the photoelectron emission of a metal is 3.75 eV. then the threshold
wave length of the radiation needed for the ejection of the electron is approximately

508 JUTD GLPOANAL 2,8 &' T aIg) DD Paoobaw 3.75 eV eond &'raw
0w JUFTR D APDODE=AS SPHVD DSCEIN GE), G0z B00BG0
AT

Options:
315 nm

1. %

280 nm
e

3 330 nm

4w 290 nm

Question Number : 123 Question Id : 544734603 Display Question Number : Yes Is Question
Mandatory : No

With increasing Principal Quantum number, the energy difference between adjacent energy

levels m H-atom

253 SonD o] DDA ot H DE3ras’ 98 9 &) 8 Fawe 38 S

Options:

Decreases

SO
1. 9

Increases
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remain constant
’Qdanrr &0l

decreases at low level of ‘n” & increases for higher value of ‘n’

B8O 1 DLVDL S SH NEVRS B VDV HE DA
4 % @ 0 @

Question Number : 124 Question Id : 544734604 Display Question Number : Yes Is Question
Mandatory : No

The electronegativity of the given elements increases in the order

Sod HresY dmbcmsm“ejésaw 208 S0

Options:
1 % & Wt E

5 u N Bk €,P

s o SEAR; T

i u P B0

Question Number : 125 Question Id : 544734605 Display Question Number : Yes Is Question
Mandatory : No

The furst 1onization enthalpies of Mg and Al can be expected to be

Mg 08030 Al © 30068 9OIrJBN J)aqrb:,v VS SR

Options:
1. %
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IE; (Mg) = 577.5 kl.mol . 1E; (Al) = 577.5 kl.mol™?

5 IE, (Mg) = 577.5 kl.mol™*, 1E, (Al) = 737.7 kl.mol™*!

5 & IE, (Mg) = 737.7 kl.mol™*. 1E, (Al) = 737.7 kl.mol™?!

. v IE1 (Mg) = 737.7 kl.mol™". IE, (Al) = 577.5 ki.mol™"

Question Number : 126 Question Id : 544734606 Display Question Number : Yes Is Question
Mandatory : No

How many of the following statements 1s/are correct?
a) Mercury is the only metal that exists as liquid at room temperature.
b) Among non-metals. carbon has the highest melting point.
¢) Hydrogen 1s the most abundant element in the universe.

d) Oxvgen is the most abundant element in the earth’s crust.

S0 bsédevé‘ A %6 oID?
a) 68 e.gga 56 2000 &' 28) 8 GDBW
b) 085"’ 596)S O (s SDBID .gvam: &otwod
¢) DI’ FrERD S VYA VDot JrVEIW
d) B TowS” Sy od QBB DI

Options:
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Question Number : 127 Question Id : 544734607 Display Question Number : Yes Is Question
Mandatory : No

A covalent molecule X — Y 15 found to have a dipole moment of 1.5 X 10™*’ . m and a bond

length of 150 pm. The percent ionic character of the bond will be

X —Y 03 28 dindiradab 2o ¥ o) abog) Ai@derse 15X 107 C.m
208050 wac;ﬁgggn 150 pm 008, & oo ANE), BATAS Wo Tdo

Options:
- 50 %

5 P 62.5%

% 75%

, % 80%

Question Number : 128 Question Id : 544734608 Display Question Number : Yes Is Question
Mandatory : No

The hybridization of Se in SeF; and its geometry respectively are

SeF, &' Se (10 oS08 HBaID SeF, 038, BB SERIT

Options:

sp3d. see-saw shaped
| o SP7d 208050 S 0 BB

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

sp3d?. octahedral

i spid? 208050 BRDOS B85S

sp3d?. trigonal planar

L x SpPd® 20Bosn DS SERAD 8D

sp3d?. square planar

i sp?d? H08030 DBV BBV 35D
L

Question Number : 129 Question Id : 544734609 Display Question Number : Yes Is Question
Mandatory : No

Incorrect matching amongst the following s (according to geometry of molecules)
S0 2BVE" BYYT 20 DOV (96 @0 DAWIT)

Options:

| v H:0,NH;

> ® BBCIZ " COZ

3 % SF4,T€CI4

- CIF;,ICl;

4. %

Question Number : 130 Question Id : 544734610 Display Question Number : Yes Is Question
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When the temperature of a gas 1s mcreased from 30 °C to 930 °C. the root mean square speed of

the gas would

w8 o) o), &l (18R 30 °C Axoc. 930 °C & Do &8 Trak LYY rms o

Options:
get doubled

i 08302 D

remain constant
29e7°1} GOt

gets halved
P Plfo 9D

increase by 5.5 tumes

5.5 Bew DAMD
4, %

Question Number : 131 Question Id : 544734611 Display Question Number : Yes Is Question
Mandatory : No

Three flasks of equal volumes contain CHy ,C0, & Cl, gases respectively. They will contain

equal number of molecules if

28 0BT (10 20y A I’ CHy, 0, 2080w Cl, Toswien &) d.
TS 03 R}oa}&é‘ ORVPLY G0l VOG0

Options:

The mass of all the gases is same
Q) TTOINQYY BO[TPF VATRAN oS
.
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The mass of all the gases 1s same but Temperature is different

) TI0PY GI[0°3 DAFDINT &ok. ag“fjéw DDDY 0T €0l
2. %

Temperature & Pressure of all the flasks are same

) TP DEDBEN 0B GG 28 DRI ol
3. ¢

Temperature. Pressure & Masses same in the flasks

L OD) TOWE DEDB0, GBS0 20B0K BIT°F 28I &of

Question Number : 132 Question Id : 544734612 Display Question Number : Yes Is Question
Mandatory : No

If the volume of 15.9 g of carbon tetrachloride is 10 ml. calculate its density.
10 ml © 576, SErE 86 a0 15.9 g 0NS 576D SEPE BE Fro@d dodd?

Options:

. x 318 g.ml™

, » 1:59 goml

2 " 0.159 g.ml™?

4 159 g.ml™*

Question Number : 133 Question Id : 544734613 Display Question Number : Yes Is Question
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0.63 g of Oxalic acid is dissolved in order to obtain 250 cm” of its solution. Find the normality
of this solution. [Oxalic acid: (COOH),.2H,0 ]

0.63 g © &rrdE D) £0Aed) 250 cm’ © G Lo TrIET) BaIrEETE. LS,
& EOMA OS) W&Bé (iEdotiadn. (ug@é svaw: (CO0H),. 2H,0)

Options:
0.05N

1. %

0.01N

., » 004N

, % 0.02N

Question Number : 134 Question Id : 544734614 Display Question Number : Yes Is Question
Mandatory : No

When an ideal gas expands isothermally from 5 m? to 10 m® at 25 °C against a constant

pressure of 107 N.m ™2, then the work done on the gas is

25°C, 10’ N.m™? d fgoixsm 36 w8 BE6 T 5m’ Aok 10 m® 568 AT
D8aE" T8 eso 28ABYD. & TALVYD 260S 1D

Options:

1 % —100 MJ
> —50 M1J
3 % —0.5 MJ
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. —10° MJ

Question Number : 135 Question Id : 544734615 Display Question Number : Yes Is Question
Mandatory : No

Find the approximate value of (AH — AU) in J.mol™2, for the formation of CO from its
elements at 298 K. (R = 8.314J.K L.mol™)

298 K 3¢ Suresv Mot C0 Do :5:556" (AH — AU) dewdd J.mol ™ 0&* vdrdorr
(R =8314].K L. mol™)

Options:
1 % —1238

, » 1238
w2477

3

4 % —2477

Question Number : 136 Question Id : 544734616 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

S$08 TR RHHAAD?

Species Conjugate acid
S R0l 8a0a0
(a) NH; (1) HyCO0,
(b) HCOZ (i) Hs;07
(¢) H,0 (i) NH;
(d) HSO, (1v) H,S0,

Options:
5 (a—iii),(b—=i),(c—ii),(d—=iv)

, x (a—1),(b—iii),(c—ii),(d > iv)

- (a—iii),(b—-ii),(c—i),(d—iv)

a0 (a—iii),(b—ii),(c—iv),(d—1i)

Question Number : 137 Question Id : 544734617 Display Question Number : Yes Is Question
Mandatory : No

The pH of 0.1 M solution of acetic actd will be [ degree of dissociation of acetic acid 15 0.0132]

0.1 M D85 es:d) graxasy) pH Dewsd (D88 2oty Daitrasd w3 0.0132)

Options:

. % 432

5 % 314
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4 o 288

Question Number : 138 Question Id : 544734618 Display Question Number : Yes Is Question
Mandatory : No

The main constituent of enamel on the surface of teeth 1s:

BT EOOBVIND ER) ITWSES’ (10 DD BRADLSIN

Options:
|3 Ca,(PO,), - CaF,]

1%

, « Ca3(PO,), - H,0

g |3 Ca,(PO,), - Ca(OH),]

4. % CQFZ

Question Number : 139 Question Id : 544734619 Display Question Number : Yes Is Question
Mandatory : No

H;B0; or B(OH); is considered as an acid because its molecule

H3B03; So B(OH); & e3:00m HB(iE30ttsd 52660 &R 9E0)

Options:

1. ®
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Combines with proton from water molecule
D 960D Mol eTroOS DotET (o Dot

Accepts OH from water, releasing a proton

5 D D0l OH &0 370D, TerDa Do ot

Contains replaceable H™ ion
. Sobotucde H' es03rD20 £9A Gocow

Can donate proton easily
O™ DR TEdo BADEAL

4. %

Question Number : 140 Question Id : 544734620 Display Question Number : Yes Is Question

Mandatory : No

The element with maximum bond-energy

20 Toe3e5° (1033 23065 3S fOd

Options:

1.¢C
2. % Pb
Ge

3. =

4. % St
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Question Number : 141 Question Id : 544734621 Display Question Number : Yes Is Question

Mandatory : No

Identify the coldest region among the following layers of atmosphere?

S0d TS’ A BV T T DG TG AA?

Options:

Troposphere

L ET0\a06
‘I_ W -

Mesosphere

Y’ y0506
2.¢ -

Stratosphere

35" 0006

3.8 ©

Thermosphere

B8 >\o6
4. % ™

Question Number : 142 Question Id : 544734622 Display Question Number : Yes Is Question
Mandatory : No

Alcohols with molecular formula €, H,,,+,0 are isomeric with

CuHop 420 EOF OO (0 ) Few S eorT S350 Jod Gt

Options:
Acids
€53:07°eD

1. % T
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Ethers

zlwéac;&g)

Esters
QDG

Aldehydes
387

4. % ~ o=

Question Number : 143 Question Id : 544734623 Display Question Number : Yes Is Question
Mandatory : No

7.8 g of a compound having molecular formula C;Hy. on reacting with CH;COCl/AIC; gives
8.4 g of a product which has molecular formula CgHg0. Calculate the percentage yield of the

product CgHg0. (Given atomic weights of H. C and O respectively are 1, 12 and 16)

oI CHi 629) 7.8 © $6, 89830, CH;COCI/AICLS B6(° C3Hy0
m&ds&v* (R 8.4 g v &)y ‘9)636:366. & 63\ S0 Brbexd. TS

Options:
v 70%

L 60%

s % 80%

. % 75%

Question Number : 144 Question Id : 544734624 Display Question Number : Yes Is Question
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Mandatory : No
Arrange the following bases in decreasmg order of basicity 1s
(1) Aniline
(11) O — nitroaniline
(111) m — nitroaniline
(iv) p — nitroaniline
TOSCE0 SOV A0S 26 ol
(i) 295
(i) 0 —° IO
(iii) m — D&° DO
(iv) p— D&" D205

Options:
| % (i) > (ii) > (iv) > (iii)

5 (i) > (iii) > (iv) > (ii)
3 = (v) > (iii) > (ii) > (i)

4 % (iii) > (ii) = (i) > (iv)

Question Number : 145 Question Id : 544734625 Display Question Number : Yes Is Question
Mandatory : No

The complete combustion of one mole of benzene produces grams of carbon dioxide.

28 26 Bod R QPO BPIA0 BoBodHDND ___ Traww (0, Dese erid

Options:
1 % 164
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, % 220

3 v 264

4 % 308

Question Number : 146 Question Id : 544734626 Display Question Number : Yes Is Question
Mandatory : No

A metal crystallizes with a FCC-lattice. the edge of whose unit cell is x pm. The diameter of

this metal atom would be pm,

FCC aposor a8 63ro 0y8886t0 Bock. air 28 oty TE x pm. & &%
DOQTTIR) TR0 pm.

Options:
2x

1. %

x
, oV

Question Number : 147 Question Id : 544734627 Display Question Number : Yes Is Question
Mandatory : No
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If two liquids A and B form a minimum boiling azeotrope at some specific composition, then
which statement among the following is correct?

25 9659 DoRLNANS A 280k B 9% Botd BT 45 SD:&J‘ eg‘ga .‘)g ilely
Qaﬂr@‘ 2 A Ddﬁ)ﬁ:ﬁé{g@é. S0 ;;abt‘.'na"véé 0ADAEG MHBotdW.
Options:

A — B molecular mnteractions are stronger than A — A and B — B interactions.

-~ A — B 9t0R 0000 B0fen. A — A 200080 B — B 00040 wow Sot) LVRND.

The total vapour pressure of the mixture 1s greater than that corresponding to an ideal solution.

2.%

e 30800 AR08 0o 273y 0, TS BN GG, Tide0 Ty R0 Solf I Got

There 1s a slight decrease in volume when the two components are mixed.

&5 Bocd) BT 0R) SODHNE LRDBAT 0 V(WO SRD.
3. % o

AH,,;, will have a negative value.

B AH, i Q00D z.mere:'aésw GolON.

Question Number : 148 Question Id : 544734628 Display Question Number : Yes Is Question

Mandatory : No

The vapour pressure of a solvent decreased by 20 mm of Hg when a non-volatile solute was
added to the solvent. The mole-fraction of the solute in the solution 1s 0.5. What should be the

mole-fraction of the solvent for the decrease i the vapour pressure needs to be 10 mm of Hg?

28 030 T $DORYA w8 Trdne eryOEde 20 mm Hg 806, & Tramod’
o A7 £Ptio 0.5. eriyy0Ed A20)8 10 mm Hg b mraed 376 erio dod
ST’

Options:
1.¢
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Question Number : 149 Question Id : 544734629 Display Question Number : Yes Is Question
Mandatory : No

Fora A + B — products the rate of the reaction is given by Rate = K[A] [B]* . The units of

rate constant (K) will be

A+ B - &d)T) e, R 6] a0, B 50 fa0gsnan 8 = K[4] [B]? wond e 650
66w EU'osan (K) aag), paoreren
Options:

;s MOLLS™

5 % L mol > 8§

- mol® 7% 81

4 mal = L4 8
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Question Number : 150 Question Id : 544734630 Display Question Number : Yes Is Question
Mandatory : No

In the electrolysis of a CuS0, solution, how many grams of Cu are plated out on the cathode. in

the time that 1s required to liberate 5.6 L of 0y 4 measured at 1 atm and 273 K, at the anode?

CuS0, TSed0 m5&5§a925°, 1 atm 208080 273 K 56, TN I Dc‘.advo?uig véba.s
000880 5.6 L ORI sBE o ani T 0o BASVed?

Options:
1. 31.75 g

, x 1429

3 % 432 g

4 = 3175 g

Question Number : 151 Question Id : 544734631 Display Question Number : Yes Is Question
Mandatory : No

For an elementary reaction, X(;) —— Y, +Z(,). the t, 7 1s 10 minutes. In what period of

time would the concentration of X be reduced to 10 % of its original concentration?

w8 FBS 06[ X(5) —— Y5 +2(5) 9, t,, Deod 10 dwodren. X es6o2) meoe”
10 % A% él;‘i)&)é} VRS .::5.;5@

Options:
20 minutes
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33.2 minutes
> 33.2 DaAnren

15 minutes

3 % 15 Davren

25.2 minutes
4 % 25.2 DA

Question Number : 152 Question Id : 544734632 Display Question Number : Yes Is Question
Mandatory : No

Which statements among the following are correct?

(1)  Freundlich isotherm fails at high pressure of the gas.

(1) AH < 0 for both physical and chemical adsorption.

(1) Physical adsorption is non-selective.

(iv) Chemical adsorption 1s reversible, where as physical adsorption 1s irreversible.
S0 TS Q) PAFED WBID?

() 068 e 3¢5 Frools DA VATLSB D Dd6e B

(i) AE B0 BIaHAS AT AH < 0

(iif) FOS 0BT & DINS ot

(iv) G 0HAE BT QRN EINADNA T2 TAE AT LRI S°&

Options:

‘o (1), (11). (111) & (1v)

(1). (1) & (111) only
, o (. () & Giii) rgd

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

(1). (111) & (1v) only
(1). (111) & (1v) Sorghdd

(1) & (1v) only
4 % (i1) & (1v) Arrgd

Question Number : 153 Question Id : 544734633 Display Question Number : Yes Is Question
Mandatory : No

Xenon best reacts with

ATD JOS o 0] Totodwos.

Options:
Neutral atoms
é@‘g DCATEDHD

1. %

Most electronegative elements
B(OS 20063 Dmsw@ésa (o) SresTen
.\._;f/

Most electropositive elements
, OIOS G IBTE) SO (10 JTrUSTW

Transition elements
. 2BIGD JreosTen

Question Number : 154 Question Id : 544734634 Display Question Number : Yes Is Question
Mandatory : No
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The correct order of acidic character of the following is:
Sod R0 FTPL 30 D(APOAVL DT 00

Options:

1 % HQO > st > Hp_SG > HzTﬁ'

> % HzSE > st o Hzo o HzTﬁ'

3 ¥ HzTe > ste > st > Hzo

4. % HzTe = HZS > ste 5 Hzo

Question Number : 155 Question Id : 544734635 Display Question Number : Yes Is Question
Mandatory : No

In the following reactions (i) and (ii). the number of moles of chlorine gas released

respectively are

$ocs adQEta (i) S0Bako (i) esjss’, Dedesew wowd §6 Tako:) rdw Doay

(i) MnO,+4HCl —

(i) KMnO,+ 16 HCl —
Options:
1 % 1 &4

5 LB

2% 2&S5

ix2&4
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Question Number : 156 Question Id : 544734636 Display Question Number : Yes Is Question
Mandatory : No

A purple colored compound of Manganese (X) decomposes on heating to liberate oxygen and
forms compounds of Manganese (Y and Z) compound Z reacts with KOH m presence of

potassium nitrate to give compound Y. Compounds X. Y and Z respectively are

G Gord (10 Aot ) ¥ X 3¢ Botorr DA Bodd eyad JEace Bakwid
06050 Boc) RBG Ao D) ¥aren (Y 208050 Z) 0 Reioy&. Z o) ¢

Teraoho PO 2205406 KOH & 186 Job 2o #din Y 0 aeioyd. X. Y b 7
“'na;‘))y.%anw SN

Options:
% X—KMnOy Y—Mn,0, Z—MnoO,

. X—K,Mn0O, Y —KMnO, Z— Mn,0,

-
3 X_KMHO4 Y—KZMHO4 Z—Mn02
4 % X—KMnO; Y— MnO, Z — MnO

Question Number : 157 Question Id : 544734637 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

property metal
(a) Element with highest second 1onization enthalpy (4;H,) (1) Co
(b) Element with highest third ionization enthalpy (A;H;) () Cr
(c) Min[M(CO)) (11) Cu
(d) Element with highest heat of atomization (A,H) (iv) Zn
(v) Ni
$08 TR 2AI0LA0?
B0 & i
(a) ByBaD a6 Jordy LSBT o (i) Co
2rsa (AH,)
(b) B)80% ©oLAL6R Jogrdy LBSAVT o (ii) Cr
Joregan (AH;)
(c) M& [M(CO)] (iff) Cu
(d) eais DoArEstn GRaD fo Juresin (A,H) (iv) Zn
(v) Ni

Options:
, x (@=iiD), (b >, (c > v),(d > iv)

., @=iib), (b= iv), (¢ = i), (d » v)
3, % (a—=iv),(b —=1i),(c —ii), (d — iii)

4 % @=v),(b—iv),(c—i),(d - iii)

AP EAPCET 2021
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Question Number : 158 Question Id : 544734638 Display Question Number : Yes Is Question

Mandatory : No

The human body does not produce

A0S 30GAL Trer HES D GOS WODT D

Options:

Enzymes

- 2o

, % DNA

Vitamins

;o DD

Hormmones

_ 0 ) R0
4, %

Question Number : 159 Question Id : 544734639 Display Question Number : Yes Is Question

Mandatory : No

Identify the best suitable reagent for the following reaction.

2o WG] BEHED ST 5°G6S0 087

cl cl cl
SO.H

SO.H

Options:
1. ¢
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Concentrated Sulphuric acid
g~ "'«aw)‘séé e300

Dilute Sulphuric acid (10 %)
TS '&awbé% e300

Concentrated Sulphuric acid & Concentrated Nitric acid

e "row%&é e3a0 VOCIL ME DSBS o

Concentrated Acetic acid (fuming)
TG DS 2300

Question Number : 160 Question Id : 544734640 Display Question Number : Yes Is Question

Mandatory : No

The major product of the following reaction sequence is

& 308 m,gves" DO DD ESD) AW

OCH, i) CH3COCI, AlCl;(anhyd.)
ii) Zn-Hg/conc. HCI
> 7
iii) HI
Options:
OH

CH,
1. 3
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OCH.
1
. & CH
OH
I 1
CH,
3. %
I
CH;
4, %
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